; Transforming Quadratic Functions Name: 07—'53
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9.Y,=(x+4)*
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For the following equations, predict the vertex and then check your answer using your calculator.

13.Y:i=(x-2)*+3 14.Y,=(x-1)2-3 15.Y1=(x+5)*-3
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Graph the followmg on the same gnds as above.
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T wnuwIng 10 the graphed parent function, f(x) = x2, by stating if it is narrower or wider

20.Y, = fxz 21. Y, = 82
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=
he vertex form of a quadratic function is given by f { x) - / > "LI 5 T l<— .

. A /Q is the vertex of the parabola

. X = _13 is the axis of symmetry

e The AJ represents a horizontal shift (how far right or left the graph has shifted from x = 0.)

e The ‘s represents a vertical shift (how far up or down the graph has shifted from y = 0.)

ven each equation, state the vertex, if it is turned up or down, if it is more narrow or wider than the parent
iction, and describe the shift.
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